


Question 1

Solve the inequality.
3n- 11> 5n- 18 [2]
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Question 2

(a) Solve the inequality.
x+13 23x+7 2]
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(b) List the positive integers that satisfy the inequality in part(a). [1]
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Question 3

Find the positive integers that satisfy the inequality 7+2 > 37-6.
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Question 4
Solve the inequality.

n+7 < 5n-38 [2]
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Question 5

Solve the inequality.
6n+3 > 8n
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Question 6

Solve the inequality for positive integer values of x.
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zlli-x >5x+5
-Yx >-l6
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Question 7

Solve the inequality.
5t+23 < 17-2t
H -6
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Question 8

Solve the inequality.

3x+2%-4 4 5
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* < 6% The Maths Society

2]

2]

[4]



Question 9

Solve the inequality.

Question 1

Solve the inequality.

Question 2

3x—-1 < 11x+2
-3 ¢ 8%
x> -3

7 8

x is a positive integer and 15x — 43 < 5x + 2.

Work out the possible values of x.

10 £ 495
% <45

x: l)aia’q

The Maths Society

(2]

(3]



Question 3

Solve the inequality.

Question 4

Solve the inequality.

Question 5

Solve the inequality

Question 6

Solve the inequality

3y+7<2-—)
4y ¢ 5
y ¢4
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62 — 3x) —4(1 - 2x)= 0.
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Question 7

Solve the inequality

Question 8

Solve the inequality

Question 9

(a) Solvethe inequality

4 -5x<2(x +4).

q-6x {2x +8
-1 {4

x >

5-3x<I17.
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Question 1

Find the integers which satisfy the inequality.

-5<2n-1<5
——
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Question 2

Solve 6x+3<x<3x+9 forinteger values ofx.
—
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Question 3
(a) Solve 3)1-’-23<)1—;1. s-zmsu
‘ —
an < =

n {3

(b) Factorise completely ab + bc + ad + cd.

bca+c) ¢ dCa+c)
(asc) cb+d)
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Question 4

List all the prime numbers which satisfy this inequality.

16 <2x—-5<48
16 <2x-6 2%-5<q3
2) 2% 2% {63
10.65 { % % 265

0.6 {2 £26-9
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Question 5

Solve the inequality

2 X gt A4 x+4_
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cx-16 > 8%+32
—an H 4t
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Question 6
Solve the inequality 3L2% -B< 7.
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